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1. O�e�Ý
���IO.

(1)


1 −3 4

4 −7 8

6 −7 7

 , (2)


0 1 −1 1

−1 2 −1 1

−1 1 1 0

−1 1 0 1

 .

J«µü�Ý
�A�õ�ª©O� (t− 3)(t+ 1)2, (t− 1)4.

2. RHu-Ä:�ê£1�ò¤184�: 18.

3. O�Ý



0 0 · · · 1

0 · · · 1 0

. . .

1 0 · · · 0

 ∈ Mn(C) ���IO..

4. �EÝ


A =


2 0 0

a 2 0

b c −1

 ,

¯Ý
 A �Uk�o����IO.? ¿¦ A �é�z�¿�^�.

5. � A ∈ Mn(C) �A��� λ1, λ2, . . . , λn.

y²: ∀ f ∈ C[t], f(A) �A��� f(λ1), f(λ2), . . . , f(λn).

6. � V ´� F þ� n ��5�m, A ∈ L(V ). y²: e V �,�Ì�f�m�©)

�ü� A - f�m��Ú, Kùü� A - f�m�´Ì�f�m.
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